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5. ada ag sec HE ateall e sl odelad Gulal s3dl Uctell ael sl adnall
3L GQQL@\ ‘&l

5. a1 Asell ay ada ael sAl & vad BwR avlef 62 d, ovellol s el

¢. A5 dwrld velol "ol dla sl olecl aAstd adl,

& sl 655 ettt ol Ul vl Blaal Dl Ul WS 5.

qo. udletldd 22 HaARd O, N dl A U ol B3cll 28l d, su s sl ua B3l N
e 2 ol d Byl adRell sl BGhcalal 531 w2 s

QL N dHA 98 wal YA vadl eld Al ddl d, @3las e Yool BoAVa 58 sdal
A&l

R A ot /uell/ citl 2t dl, 20U Hdl Hidl-Rd odls udlall ARSI v udla
2»{[?151:51& 229 Hisdl 2sdl oell. 2 ¢ Joidl/ it HiA R{oiBd 25cdl Allet &lRL

Bledclde dltdel.
a3.e1cd /vill/ diddl MSCEdll Aol U a2uodl Gar &l s Al usl 10 Rarudd

cttdel dlltiadl.
Q. wsual QSuel BUEaL etdl Het ol HIE Eeidldl ARRA A 2 @glal Al

IETRVELN

0401 / Gujarati Set-A . 1 0f32 P.T.O.

Scanned with CamScanner




[SECTIONT |

aevaldl

w1 el 30 et g s aidl A et waldl velet el ualaiiel o
avl.

ald 248l Nou dell ouns olg eLUA!
A SA lsdl Nl e A
Noui dl ells olg, s sl v
Nl N, ©di el o 2l A
8le 35Sl A el HEl Luu!

dl NAG NFA cunLs ol§ HASIA!
QuRe A A & LN AURUR!
atell, elst, dtad §aaudl dl uw!
ddt Qe ugt aellel wd Hzsk!
émﬁ_ﬁmi ® Hledl AdlR!

welell ald g2 i dl 28 wsa
AAA wﬁﬂg Ao W
AN Nl Ad 5 Aaw 1o m
Avadl 58 8l dl §8a 59 Aara _"

]

o

1. ounsl el ald Al v 2

() wdeadl
2) G

(3) Wl MAW pswmw_znm
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(1) e

3) alve (2) &R

0401 / Gujarati Set-A

i

ust 4 ol 6 HE A A Aevis uayds dislad dell dAat wallett Yol vel
walamiell 2l

wouer Risel ARSI WU ol ) A5 dvid slecHl A Wl AL A AHA
ol ARSI Wbl dAddL Aecrl A5 surell dls2 sdl. A Andl AR viLdRoRel 5L
“ol2 sl Risa A olfiet wud. e ueel 3¢ Badl dad viewR we2l. A el dl
veruiel a8 A AR dRd ¥ sal, AL L ST Haldl ML Al Bl @sA veaol v
b, § Al el LR HYRA G, A A Hold uel V. W Ale! q ww w@sa dl dd
ol 2 2ubol, it SlauHi § R aell dlsdl 53 Q. £25a A2 Acll Y Y. ULL vledMl
BBLAYAS 20O ¥ aetoa Hoat O, v 4l uddl ¥ AR HJl 4 A Ad ad sdl
D 21 WA BUelR UGl Ml . i s g euill, Hald Risdd adl ada 26l
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yenteen thousand + mn..azgs J
~

' ieen _m_rf.m vmue__ﬂ:ﬂﬁﬁu,— ﬁﬁ_._.ﬁ ;
a:n.: 9
NS &

n go_hm

(1) Seventeen la hundred and seventee,,

mnn_ gevel

(2) Seventeen lakhs eighte

thou: t hundred and Seventeg,
seventcen

sand eigh

i ndred and seve ,
(4) Seventeen lakhs eighteen thousand eight hu Nieey, .

(3) Seventeen lakhs

. i double the principle amount of R . |
27. How many years will be required 10 ; 5 5oy

p.a -
- by simple interest at the rate of 4 PCP #_

28, What will be the product of a greatest 5 digit mumber and 2 digit greateq &
number ?

) 98 99 802

(1) 98 99 901
(3) 97 99 804 (4) 97 99 902 |

29. How many days after Balika din, falls Republic Day ?
(1) 23 (2)24 322 @) 26

30. Neha's father deposited Rs. 10,000/~ on her Ist birthday at the rate of § PLPa

_ SECTION-11 L .

MATHEMATICS

2622 GV + AR A+ AR e + AR = Bed ?
(1) el Ak AR o3 AR AR
(2) AR CAbL AR &R Al Ak
(3) AR AN AR EWR Ao AR

(4) AR UM Bl 62 2R AR

27, 6.t 4 L €2 5000 30 A U Heel Sl g 2 W e 2 AodL?
1) 50 ; 2) 5
315 4) 20

26,5 w8 Aot A wivaud 2 14l oo WA v v @b il s ed wiad?

1) 9899901 2) 9899 m&
3) 9799804 4) 9799902
29, uast Ral wdl Boc Badl wvaidls Qel 2iafl?

) B 2) U

“__ ) ) 4) 26

| 30.eiel RS A e sror R 10,000 302 6. . 8 ot £ sl et L Ak

in bank. What amount will her father receive on her 6th birthday ?

(1) Rs. 14000  (2)Rs. 14800 (3) Rs. 15000  (4) Rs. 158y

FOR

,“ ogL YeHBaAR Al Al g Sedl asn HoQ?

(1) 14000 (2) 14800 " (3) 15000 {4) 15800

i SPACE FOR ROUGIWORK
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ms.
31. 70 Hectograms = How many &

- (3) 700 ) 7004
2) :
n 7

31,70 2522 = bl am

525 each for picnic. It had 40 notes of Ry S0

w7 @) 0 (3) 700 @) 7000
32. 39 students collected Rs.

i A 40 adsl A
. . 5 notes. Aeat v 39 Qaellad €Y 525 3R YHL sLca, Al 500 3R

remaining were & :Méa there ? . wu.“.*w oflell 5 3R Al A edl. A Al 5 3R Jodl acel A ed?

How many Rs. 5 notes

(1) 95 ()25 B 95 b (1) 95 2) 25 (3) 45 @) 85

0 by the sale of pomegranates_ She
des, Rs. 3000 for laboy,

332461008 e1sHe At s 17000 3R A sl A elsHAL AAdR W .aocu wwwﬁ
yalals el Bzsia W 5000 3R, HeydL MR 3000 3L VLA A AL
1000 3020 v sl el Al etsHel s el Bud Sacl?

33, Sunanda Tai earned a profit of Rs. Goﬁum o
spent Rs. 7000 on plantation, Rs. 5000 for p
Rs. 1000 for transportation.
Then, find the selling price of pomegranates.

by

(1) 23000 30 (2) 33000 3@y (3) 1000 32 @) .Gooo 3

(2) Rs. 33000 (3) Rs. 1000 (4) Rs 13004 34,24 b0 WRRRAN A A5 ouy Yol dorrpid udas ¥ dod WRRR
(1) Rs. 23000 5.

28 Al A dl Al (et dous Secd sll?

34. The breadth of a rectangle is equal to the side of a square whose ﬁwﬂman_a;
24 cm. If the perimeter of a rectangle is 28 cm, then what will be its _onmgm

(1) 4 201 ) 6 3) 7 vl @) 8 vl

35. EWRLEHL N5 eAOHL XXVIT ¢l LXVI 1l vuatet suis d. A edounl s Baa

B |
(1) 4 em (2) 6 cm (3) 7 cm (4) 8cm : BRAA B?
1) 38 @) 39
35. There are chairs from no. XXVII to LXVI in a row at an Auditorium, The @) 48
how many chairs are there in the row ? (3) 40 :
(1) 38 239 (3) 40 (4) 48 36,215 AvALL 15 b FUAN ool GLAUSIR 12 A d A v AvAd 16 o oldLdl AN
Yocdl aud?
36. A number is divided by 15, the quotient is 12 and remainder O. If the sam (1) 180 @4
number is divided by 16, what will be remainder ? .
3) 6 (4) 14
(1) 180 2)4

(3) 6 4) 14

i
N s
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37.

38.

39.

40.

with place value of _Esawma

. ber .

What is the difference between (€ Ay dredth in the number 31g 4" B
the number with a place value of one-hun B
@) 3003 &

(1) 30003 Y
(3) 300.03 ) 29997

f Rs. 35 per kg., 3 kg. jowar oy E
ate of Rs. 280 per kg. She m.ﬁf ..._
rupees will the shopkeeper s 5

Rutuja bought 6 kg. wheat at the Bﬁ:ﬂw _,
rate of Rs. 32 per kg., half kg. tea at

it
500 rupee note to the shopkeeper- How many wd
to her ? . ._
(1) Rs. 446 @) Rs. 186 ._
(3) Rs. 54 (4) Rs 64

started from Kolhapur with 25 passengers , =

— bus
Kolhapur—Ahmednagar 4 the bus and 4 women got down. At Satarg

Karad, 12 passengers boarde
passengers boarded and 9 g0
at Ahmednagar 15 passengers were 1é

1
¢ down. At Pune, some passengers got dowp, _n..
maining, how many passengers got doy,

at Pune ? g
(1) 25 2 29 :
(3) 23 4) 34
Which digits will occur in place of O and A, respectively, in the mozcimsw.._,_,
example ? 4
ooo
xAAA
110889 _

W 3,3 @ 1,9 | i
3) 0,9 4 4,5

A

A H W

37.318.43 AVALL AdS @olall is U nelol 2eel Bigel] soufs Rl B dsad

e el

R

i

__P__...,J‘é-a

&7
(1) 30002 (2) 3003
(3 30002 @) 29997

38, APt 35 WA oud 6 Bl 1B, 32 3 oud 3 B yauz L 280 A U

sl B A QR 2 £saeRd 500 3R e Al Al g sl A Boa 3R
oL BUULL? §

(1) 446 3B (2) 186 3024

(3) 54 U (4) 64 3R

39.SLCEIUR - AUEHEAAR Gt 25 Nl ¢ Aceryrel Asdl sasel 12 wael seed

agal 2 4 B0 Gadl. 2Rl 16 naR) oipol Az -9 Gl Yand owid
Yocis Rl Bl udl veneas w15 warel 2en A il Soa a6l -

(1) 25 L YA e T
@ 23 @ u

20,00t BEleWHE O A Al 7au s s 2ls 2uad?

ooo
x AAA s o I
| TOESOE it sl
M) 3,3 AN (ol ;
3 0,9 n

150f 32

PO R - T
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41.

f 10 ?
than 10% ©
By | much is 5% of 100 less OF more
10W . 4
(@) Smaller by 41,100 4 A58 S X 10 Q5% 10 eond
(1) More by 4 : 0 52di Yoy dlel ey WL B7

(4) Smaller by > (1) 4 Fed Hal .
(3) More by 5 (2) 4 Veeu el
@) 5 vea e @ 538
: 5 Veel etell
42. Identify the figure in the series. @ . “
A@ALADOLS = 15 90l P ALl s
& @ A ADAAOO®AA 2
(1)
. m @ 2)
2¥oJo @ BE -
H ONOO, @ AA
nth. He spends =th
, 1y salary of Rs. 18000 per o 97 Part g ' 4 4
43. Rohit gets a monthly - 2 th part on bank instalmen 3% wanzy. 18000 302 wouR Hl ®. el g owat Aded WL, g AL B W
petrol 2 th part for domestic expenses % 9 nt does he save ? 4 Mg .Mww g A Usetl Sl M2 wiel 52l adcll 25M A v L B, A A Beell sH el
9 . How much amou ; An B7
saves the remaining amount. .
. (2) Rs. 8000 (1) 2000 30 ) 8000 3R
(1) Rs. 2 .
o (4) Rs. 9000 , (3) 4400 AL (4) 9000 3L
(3) Rs. 440
; i a2
days of September. Op ” 13 Rt vlél Bier g4 ¥a oudldl pnﬂ&.%
: day for first 15 day the | A AR 020 Ml udal 15 Rar :
e M : E_.,.o“_m_wnanﬂwé:. milk at the rate of Rs. 52 per It. Hoy 4 4 52 oo ol Riza p&m A4 A AN g H Yoa ML vl auAl?
remaining days, she pu witiber T
much did she spend in the month of Septe (1) 1320 300 (2) 312032
(1) Rs. 1320 @) Rs 3) 3140 320 (4) 23503
e A (@) Rs. 2350 i oy S e
iy e SPACE FOR ROUGH WORK
~ HWORK

17 of 32
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Qu on 45 d i ased on the En—onr: mumo_._.:uzo £
esti and 46 : Answer the n__._nw:o:w bas 5 | m F | |
X c.m?_..p Gd? 32/.

| = _
Saplings in the No. of saplings )
| Nursery III\\%%\J\J%\\I! §J UHIBL 1 Ry = 10 9
{
Rose % m % % i Nw.un..._.w N;CL IJH.Mﬂ’Vj
_ |l|||l|.||I||l||.lI]
Hibiscus | - Il-..ll.lﬂ.\wllll.ll.l
.. pacd
L . ,M | Weye - %%gm =
Scale: 1 picture = 10 sapling o ¥ %
us, champa and Jasmine in all ? ﬁ/%[

45. How many saplings are there of Hibic .
o 45. o124, L A Dot gt Yo o2

e S ——

(1) 70 ) 80
70
3) 90 4 110 Q) 2) 80
: sierd Tudmine d GBI @) 110
46. How many more number of saplings aré there of Rose and Jasmine (han thatg A Al Yuell o KEL510
of Hibicus 2 462101 Dl HPRLAL AUl 2w e Au 53l Seetell aud B2
(1) 20 (2) 10 ; (1) 20 @10
(3) 50 @) 30 : (@) 50 @) 30
1 ! : -
i i ) 4725005 A8+ 100l 538U = O ol 3 st Assod Do 2AvA vl
3.w%ﬁ+m°:8nw&ﬁ_. 5
(1) 275 (2) 55
Write the correct number in the box. .
3y 125 i et 4) 250
() 275 @) 55 ©) b @
(3) 125 4 250
! W
: i : 2 190f32 v
0401/ Gujarati Set-A 18 of 32 PTOL ] M0/ GujsmatiSetA
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soan following figure ing;
48. What decimal fraction does the shaded portion in the E__nﬁg

(3) 0.25 @) 4.16

M 1 @y

49. Aditya was born on Saturday 14th Jul. 2001, What was the day on his cighty,

birthday ?

(1) Saturday (2) Monday

(3) Tuesday (4) Wednesday.

50. Which symbols will occur serially in the boxes in the following expression 9

oﬂ_mD_oDmDmuhm

ANV X, +, F — AA.V i T - S

A—u +, = x, + ﬁmu + X, +, —

lace value of the digit in ten thousands place

51. What will be the product of the p
ands place in the number 58279 9

and the face value of the digit at the thous

(1) 1000000 (2) 1000 (3) 10000 (4) 100000

52. Joseph used 20 quires out of 1 Ream for xerox. How many sheets are remaining
with him ? ;
(4) 480

1) 24 3) 12

P.TO.

0401 / Gujarati Set-A 20 of 32

=

Qi oag
g, QAL PUECL ORUBA R 0y g 00 “gels ¢efd
5 ¢4 2

4
T e w (3) 025 (4) 4.16
29. LU A Y 14 s 2001 MBS o Nl sipgsnpad ol e
{f) BB () Amar
) HatnelR ) g

50, A2 2l el s suel 53 Aoy Rp wyad?
6020100505 =48

(M 5%t A, H - Berx+H- @ nHX-

51.58279 RALAL €2 §MRAL 2elctell Vsl 2R Brad @A Ads 2eelall 2isell
cel@s Biddl ABusk Sedl?
(2) 1000 (4) 100000

(1) 1000000 (3) 10000

5o MY 1 A staoliell 20 sl s HAat He e, A Al wal Beat s susl
6?

(1) 24 20 G) 12 (4) 480

ﬁ 210f32 P
0401 / Gujarati Set-A
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\
i a2t Beuvad 5
53. What is the sum of all divisors of 133 7 @ 151 { 53. 133 R wm.n.ww
160 _
(1) 134 ) 145 € | “ m 13 ) 145
1 3 1 _. 54, AUt et 2 il de el ageyqpe W 16 B 18T
d from 107 m and 7 m o get 5= o | . e g e . _
54. How many meters should be subtracte 2 { M et By w R OUE 5] st uia el aud?
: A Uiy
as remainder ? " :uail 95 su 3) A ar (4) sy ©
a5 SY ER g
5% 5 (3) 425 m (4) 575 m P55 T D A uds gy TR sy gy, .
(1) 475 m @) 5. el R Bae) vy S % WAR M Sudld £ MibA 807500
?
55. In a company, 95 workers work on same salary. The company needs R M 9500 () 9409

Then how much salary does every worke,

h : (3) 8400
807500 per month for their salary. " Qdaiel 58 crqell wg T ) (4) 8500
get ? 5 R VSR Qo D 7
, 8400 (4) Rs. 850 1) ©2
(1) Rs. 9500 (2) Rs. 9400 (3) Rs 0 m . ) buscia
. : 3) aellgll g8SL
56. Of the following, which object will have all its surfaces 1 square shape 2 ( @) R A

v A 20 ARA . .
(1) Brick (2) Compass box o T 00 A4 s 3oL vag) MM.&E Al e 2o 24 BUAct s oL R

(3) Cubical box (4) Match box

57. If the below given figure is folded to make a cube, which colour will not come
adjacent to red colour ?

e

red
violet
blue |
green . , .
yellow | orange ok - X i _ ; ; : o _
(1) Blue (2) Orange (3) Yellow (4) Green gl g TR et e b e
AC R /

e

FRr=rm 51 af?
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signs will be appropriate 9

. = O_, 2..0
58. For the following fractions, which < 2
7 13— 91
U705
) < = (2) <%
3 = @) <>

e made furniture for the :ozma

. Sh
59. Sonali purchased a house at Rs. 37,50,000 sell the house to gain a prog,

worth Rs. 7,25,000. At what price should e
of Rs. 5,25,000 ?

(1) Rs. 5,00,000
(3) Rs. 44,75,000

(2) Rs. 50,00,000
Ah.u Rs. .&O,MO.OOO

- i ith center A.
60. The diameter of a circle with center B is the radius of circle with A. Wha

is the length of seg. AB 7

5
61. What is the sum of odd prime numbers between 1 to 50 ?
(2) 326
4) 273

(1)3 cm (2) 6 cm

(3) 12 cm (4) 2 cm

(1) 328
(3) 303

62. Dhanesh boarded a train at 11 o'clock in the afternoon, then at what time did
he board a train as per 24 hour clock ?
(1) 11 PM (2) 21 o'clock
(3) 12 o'clock (at night) (4) 23 o'clock

/ 1WO

58

0401 / Gujarati Set-A 24 of 32 P.T.0.

a3l
gacs AL Aoy g <>

oldll®

13791 e =
wmﬂmé R 2oy gaar
<= (D)o g
pmw 2 ?: < s
25 4R 37,50
925 A A 22 AV S g 3 gy A9 7,25,000 3R sEar

LI o o
] i
A diy aQ B Wiy e 3R n...wp ad?
ﬁ: m'D0,000

() 50,00,000
3 44,75,000 _

(4) 49,50,000
6 AN A Y4 g ol Baan Qo A duy AB Yedl?
(1) 33
() 1244

.Y aa ddned

2) 620
4) 221

g1.1 4 50 4l B e s Y s

(1) 328 @) 326

(3) 303 (@) 273

gaueled 11 U dael 8 g Q) 24 ses alun W A Yo adl udHl Qa2

(1) o2 11 L (2) 21-edl
(3) AA 12 ad @) 23 ad
SPACE FOR ROUGH WORK
r 25 0f 32 P
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form Suryanamaskar. Hq
63. Tn a school, everyday 70% students out of 2300 PErO W

many students do not perform Suryanamaskar ?
(1) 1610 2) 690
1410
(3) 590 Y .m

Oq M. wu @w Q OH_.—%

: d using digits
64. By how much a 5 digit greatest number forme the same digit 36

: formed using
once is greater than a five digit smallest number

41
(1) 117699 (2) 949

(3) 76923 4) 76941

. i s 5, 6, 7 will give 4
65. Which number from the given options when divided by

as remainder ?

(1) 42 (2) 214

= i figure ?
66. How many number of angles are there in the adjacent 11g

(1) 10

~r _£1T

quouHl 2300 Qeuelwy A4 5

NS 025

& el Al 2SR s qqy U ey Ul aesi 5) A e
1610 .
M ) 699
% @) 1410
D A o ad gy

o_m.u,o.‘__ Ad Qi U W o S
%.e% qrudlel AAR el diay alell uiz g ﬁmﬂw MM ,MMMW w;ww B, L o

1 11769 (2) 94941

@) 76923 (4) 76941

6. m@.mﬂq_._. ﬂ.wﬁ mmm. m&.....bc.nw. m.» 6,7 ﬂw G, @.ﬂ 4 n_.m_.&.m :

(1) 42 : ﬁuu.upn.ﬁ_..,._.p
3] 206 _ _@..Ms "
6, Al BugRriaL vl 2 A _
sugld ‘
S_ 10 @9
3 8 @7

%E.FEE_.EE
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67.

68.

69.

70.

71.

10 per copy- 5 copies were foupg

Vishwas bought 5 dozen copies at Rs. .
715. In this transaction, hoy

damaged. He sold the remaining copies at Rs.
much profit per copy did he make ?

(2) Rs. 3 (3) Rs. 115 (4) Rs. 12

(1) Rs. 13

TX5~2%344=?
(3) 33 4) 147

(1) 21 (2) 67

The capacity of a water tank is 140 /. 4 part of it is filled with water. How
7

many liters of water is required to make it full ?

(3) 801 4) 90..

(1) 601 (2) 701.
m/hr. For how many hours will

Shrikant drives a vehicle at the speed of 85 k
if the speed remains the same ?

he have to drive to cover a distance of 595 km,

(1) 7 hrs (2) 6 hrs

(3) 8 hrs (4) 5 hrs

2000 for 4 years at the rate of 8 p.c.p.a. Pari deposited Rs.

Deep deposited Rs.
the relation between

4000 for 4 years at the rate of 4 p.c.p.a. Then what will be

the amount that they will reccive after 4 years. ?

(1) Deep will get more than Pari

(2) Deep will get less than Pari
(3) Both will get the same amount

(4) Pari will get more than Deep

pT.0.

6 dl
Mpmmb ad a2 B 4 S&wﬂ% wwg 5 dleedl Waet
¥ uds dleojsui bea
Hz 13 Awu 3
3).
a:m.mxu+nuw%ﬁ s A
v ot B3 (4) 147
o weldl et : MRl 140 Ragy d, g 4
ol Rl e &Y Seal @iy weld) g | azm,u%m& e B, A 2l welell
(1) 60 ) 70 (3) 80 @) 90

sict setsel 85 Bl S 0 acud 3. 3 v ssuel 595 1all o0l i W

70. 10 beal 5cs A Adiad) usds
7 i
o8 @) s

71,41 2000 300 4 el 2 6.2 8 ol €2 s uld 4000 3R 4 a2 e.de.
4ol e Heel dl 4 ol ugl oldd ol ased s lolu 82

(1) flua uild sl at
2) ua uld s 2l
(3) ol ML

@) uflaa Qlu sl aul
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. 1 19 hp ;.M - c.r L k)
¢ are formed 1n the given figure 7 qm.qﬁuw 3 p,mamp wfw/m:_n/ dis
< A Ny W b

72. How many number of triangles and square

4, 2
(1) &2 @) 55 ® @ s
ﬁwu 5, 6 : 2
(3) 56 ) 4, 4 s
; 76,3 .

73. What will be sum of first and last number if 32976, 23976, 32796, 23796 are 7. ﬁﬂm%ww S ewﬁo. 23796 AN wgqg g .
arranged in ascending order ? R ’ M Nsadl Whel w Beedl vAA
(1) 56 772 (2) 56 592 (1) 56772

2) 56592
(3) 56 952 (4) 56 772 (3) 56952
@) 567112

N ] .
= 1l 7 5ol A Bl B 7 Byl

74. How many times % should be added to W so as to get the answer 77 74.
49
o @ ® @) &
v ) 14 ® 7 @ 14
75. 8 A el Qs 154389 B, Maiel |08 4
A W Aoude fat o2 08457 AQ WA Aeade da d

75. The population of Sakoli village is 1,54,389. 1, 08,457 people have mobiles.

How many people do not have mobile ?
(1) 45,832 @) 459%
(1) 45,832 (2) 45,932
(3) 45,942 | (8) 55942
(3) 45,942 4) 55,942 ;
SPACE FOR ROUGH WORK,

SPACE FOR ROUGH WORK
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